
IZRAZI 

a.) KVADRAT VSOTE 

(𝒂 + 𝒃)𝟐 = 𝒂𝟐 + 𝟐 ∙ 𝒂 ∙ 𝒃 + 𝒃𝟐 

 

REŠENI PRIMERI: 

(𝒂 + 𝟑)𝟐 = 𝒂𝟐 + 𝟐 ∙ 𝒂 ∙ 𝟑 + 𝟑𝟐 = 𝒂𝟐 + 𝟔𝒂 + 𝟗 

(𝒙 + 𝟕)𝟐 = 𝒙𝟐 + 𝟐 ∙ 𝒙 ∙ 𝟕 + 𝟕𝟐 = 𝒙𝟐 + 𝟏𝟒𝒙 + 𝟒𝟗 

(𝒎 + 𝟏𝟐)𝟐 = 𝒎𝟐 + 𝟐 ∙ 𝒎 ∙ 𝟏𝟐 + 𝟏𝟐𝟐 = 𝒎𝟐 + 𝟐𝟒𝒎+ 𝟏𝟒𝟒 

(𝟑𝒙 + 𝟖)𝟐 = (𝟑𝒙)𝟐 + 𝟐 ∙ 𝟑𝒙 ∙ 𝟖 + 𝟖𝟐 = 𝟗𝒙𝟐 + 𝟒𝟖𝒙 + 𝟔𝟒 

 

VAJE: 

(𝒂 + 𝟗)𝟐 = 

(𝒙 + 𝟓)𝟐 = 

(𝒕 + 𝟏𝟖)𝟐 = 

(𝟐𝒂 + 𝟔)𝟐 = 

(𝟒𝒏 + 𝟕)𝟐 = 

 

 

b.) KVADRAT RAZLIKE 

(𝒂 − 𝒃)𝟐 = 𝒂𝟐 − 𝟐 ∙ 𝒂 ∙ 𝒃 + 𝒃𝟐 

 

REŠENI PRIMERI: 

(𝒂 − 𝟒)𝟐 = 𝒂𝟐 − 𝟐 ∙ 𝒂 ∙ 𝟒 + 𝟒𝟐 = 𝒂𝟐 − 𝟖𝒂 + 𝟏𝟔 

(𝒙 − 𝟏𝟎)𝟐 = 𝒙𝟐 − 𝟐 ∙ 𝒙 ∙ 𝟏𝟎 + 𝟏𝟎𝟐 = 𝒙𝟐 − 𝟐𝟎𝒙 + 𝟏𝟎𝟎 

(𝒎 − 𝟏𝟓)𝟐 = 𝒎𝟐 − 𝟐 ∙ 𝒎 ∙ 𝟏𝟓 + 𝟏𝟓𝟐 = 𝒎𝟐 − 𝟑𝟎𝒎+ 𝟐𝟐𝟓 

(𝟐𝒙 − 𝟑)𝟐 = (𝟐𝒙)𝟐 − 𝟐 ∙ 𝟐𝒙 ∙ 𝟑 + 𝟑𝟐 = 𝟒𝒙𝟐 − 𝟏𝟐𝒙 + 𝟗 

 

VAJE: 

(𝒂 − 𝟐)𝟐 = 

(𝒙 − 𝟖)𝟐 = 

(𝒕 − 𝟏𝟔)𝟐 = 

(𝟐𝒂 − 𝟒)𝟐 = 

(𝟑𝒏 − 𝟓)𝟐 = 

 

 



c.) PRODUKT DVOČLENIKOV 

(𝒂 + 𝒃) ∙ (𝒄 + 𝒅) = 𝒂𝒄 + 𝒂𝒅 + 𝒃𝒄 + 𝒃𝒅 

 

REŠENI PRIMERI: 

(𝒙 + 𝟕) ∙ (𝒙 + 𝟐) = 𝒙𝟐 + 𝟐𝒙 + 𝟕𝒙 + 𝟏𝟒 = 𝒙𝟐 + 𝟗𝒙 + 𝟏𝟒 

(𝒙 + 𝟏𝟑) ∙ (𝒙 + 𝟏𝟎) = 𝒙𝟐 + 𝟏𝟎𝒙 + 𝟏𝟑𝒙 + 𝟏𝟑𝟎 = 𝒙𝟐 + 𝟐𝟑𝒙 + 𝟏𝟑𝟎 

(𝟐𝒙 + 𝟒) ∙ (𝟑𝒙 + 𝟐) = 𝟔𝒙𝟐 + 𝟒𝒙 + 𝟏𝟐𝒙 + 𝟖 = 𝟔𝒙𝟐 + 𝟏𝟔𝒙 + 𝟖 

(𝒙 + 𝟓) ∙ (𝒙 − 𝟒) = 𝒙𝟐 − 𝟒𝒙 + 𝟓𝒙 − 𝟐𝟎 = 𝒙𝟐 + 𝒙 − 𝟐𝟎 

(𝒙 − 𝟖) ∙ (𝒙 − 𝟔) = 𝒙𝟐 − 𝟔𝒙 − 𝟖𝒙 + 𝟒𝟖 = 𝒙𝟐 − 𝟏𝟒𝒙 + 𝟒𝟖 

 

VAJE: 

(𝒙 + 𝟖) ∙ (𝒙 + 𝟒) = 
(𝒙 + 𝟏𝟓) ∙ (𝒙 + 𝟗) = 
(𝟑𝒙 + 𝟕) ∙ (𝟓𝒙 + 𝟐) = 
(𝒙 + 𝟏𝟎) ∙ (𝒙 − 𝟔) = 
(𝒙 − 𝟕) ∙ (𝒙 − 𝟓) = 
(𝟓𝒙 − 𝟔) ∙ (𝟑𝒙 − 𝟏𝟎) = 

 

d.) PRODUKT VSOTE IN RAZLIKE 

(𝒂 + 𝒃) ∙ (𝒂 − 𝒃) = 𝒂𝟐 − 𝒂𝒃 + 𝒂𝒃 − 𝒃𝟐 

 

 

 

(𝒂 + 𝒃) ∙ (𝒂 − 𝒃) = 𝒂𝟐 − 𝒃𝟐 

 

 

REŠENI PRIMERI: 

(𝒙 + 𝟕) ∙ (𝒙 − 𝟕) = 𝒙𝟐 − 𝟒𝟗 

(𝒙 − 𝟏𝟑) ∙ (𝒙 + 𝟏𝟑) = 𝒙𝟐 − 𝟏𝟔𝟗 

(𝟐𝒙 + 𝟒) ∙ (𝟐𝒙 − 𝟒) = 𝟒𝒙𝟐 − 𝟏𝟔 

 

VAJE: 

(𝒙 + 𝟗) ∙ (𝒙 − 𝟗) = 
(𝒙 − 𝟐𝟓) ∙ (𝒙 + 𝟐𝟓) = 
(𝟐𝒙 + 𝟔) ∙ (𝟐𝒙 − 𝟔) = 
(𝟑𝒙 − 𝟏𝟐) ∙ (𝟑𝒙 + 𝟏𝟐) = 
(𝟓𝒙 + 𝟐𝟎) ∙ (𝟓𝒙 − 𝟐𝟎) = 

0 



e.) KUB VSOTE 

(𝒂 + 𝒃)𝟑 = 𝒂𝟑 + 𝟑 ∙ 𝒂𝟐 ∙ 𝒃 + 𝟑 ∙ 𝒂 ∙ 𝒃𝟐 + 𝒃𝟑 

 

REŠENI PRIMERI: 

(𝒂 + 𝟑)𝟑 = 𝒂𝟑 + 𝟑 ∙ 𝒂𝟐 ∙ 𝟑 + 𝟑 ∙ 𝒂 ∙ 𝟑𝟐 + 𝟑𝟑 = 𝒂𝟑 + 𝟗𝒂𝟐 + 𝟐𝟕𝒂 + 𝟐𝟕 

 

(𝒙 + 𝟕)𝟐 = 𝒙𝟑 + 𝟑 ∙ 𝒙𝟐 ∙ 𝟕 + 𝟑 ∙ 𝒙 ∙ 𝟕𝟐 + 𝟕𝟑 =

= 𝒙𝟑 + 𝟐𝟏𝒙𝟐 + 𝟏𝟒𝟕𝒙 + 𝟑𝟒𝟑 

 

(𝒎 + 𝟏𝟐)𝟐 = 𝒎𝟑 + 𝟑 ∙ 𝒎𝟐 ∙ 𝟏𝟐 + 𝟑 ∙ 𝒎 ∙ 𝟏𝟐𝟐 + 𝟏𝟐𝟑 =

= 𝒎𝟑 + 𝟑𝟔𝒎𝟐 + 𝟒𝟑𝟐𝒎+ 𝟏𝟕𝟐𝟖 

 

(𝟑𝒙 + 𝟖)𝟐 = (𝟑𝒙)𝟑 + 𝟑 ∙ (𝟑𝒙)𝟐 ∙ 𝟖 + 𝟑 ∙ (𝟑𝒙) ∙ 𝟖𝟐 + 𝟖𝟑 =

= 𝟐𝟕𝒙𝟑 + 𝟐𝟏𝟔𝒙𝟐 + 𝟓𝟕𝟔𝒙 + 𝟓𝟏𝟐 

 

VAJE: 

(𝒂 + 𝟐)𝟑 = 

 

(𝒙 + 𝟑)𝟑 = 

 

(𝒕 + 𝟓)𝟑 = 

 

(𝟐𝒂 + 𝟑)𝟑 = 

 

PONOVITEV: 

Odpravi oklepaje! 

(𝒂 + 𝟔)𝟐 = 

 

(𝒙 + 𝟖)𝟐 = 

 

(𝟐𝒕 + 𝟏)𝟐 = 

 

(𝒂 − 𝟒)𝟐 = 

 

(𝒙 − 𝟏𝟎)𝟐 = 



 

(𝟑𝒕 − 𝟏)𝟐 = 

 

(𝒙 + 𝟔) ∙ (𝒙 + 𝟏𝟎) = 

 

(𝒙 − 𝟓) ∙ (𝒙 + 𝟗) = 

 

(𝟐𝒙 + 𝟕) ∙ (𝟒𝒙 − 𝟐) = 

 

(𝒙 − 𝟏𝟎) ∙ (𝒙 − 𝟏𝟒) = 

 

(𝟓𝒙 − 𝟖) ∙ (𝟐𝒙 − 𝟓) = 

 

(𝒙 + 𝟕) ∙ (𝒙 − 𝟕) = 

 

(𝒙 − 𝟏𝟒) ∙ (𝒙 + 𝟏𝟒) = 

 

(𝟑𝒙 + 𝟖) ∙ (𝟑𝒙 − 𝟖) = 

 

(𝟓𝒙 − 𝟏𝟎) ∙ (𝟓𝒙 + 𝟏𝟎) = 

 

(𝒂 + 𝟒)𝟑 = 

 

 

(𝒙 + 𝟔)𝟑 = 

 

 

(𝒕 + 𝟏𝟎)𝟑 = 

 

 

 

 


